BORILLA oPORTS

DELUXE INVERSION TABLED 1003300



Administrator
打字机文本

Administrator
打字机文本

Administrator
打字机文本
（100330）

Administrator
打字机文本

Administrator
打字机文本


“PUORILLA oPORTS

Nut: (M8) Washer: (#8)
© ©
Hex Bolt: (M8%48) Hex Bolt: (M8*15)
T i
Hex Bolt: (M8%38) Hex Bolt: (M8%20)
1 i
Hex Bolt: (M8%33) Hex Bolt: (M8*30)
1 i

Ball PIN: (@8%50) Ball PIN: (¢8%35)

(O ~ O




PUORILLA oPORTS

152.5

Dimensions complete: 203 cm x 65.5 cm x 152.5 cm
Maximum loading: 110KG



Administrator
打字机文本
110KG

Administrator
打字机文本


1 o 11

Hex Bolt (M8%33)—-6PCS

7T
)

Nut (M8) -6PCS  Washer (#8) —-6PCS




!

Hex Bolt (M8*33) —4PCS Washer (¢8> -8PCS

!

Hex Bolt (M8*30)—-4PCS

i

Y

7
)

Nut (M8) —8PCS




9 i—mm (O

Hex Bolt (M8*38)-4PCS Washer (#8)—4PCS

S ©

Ball PIN: (#8%35)—1PCS  Nut (M8)-4PCS




4PCS
—4PCS

il

Hex Bolt (M8%20)—-4PCS
7 N
.
Nut (M8) -
Washer (98)




Washer (¢8) -4PCS




SOdT- (8I) 30N
7
.

SOdS— (GT*8I) 3 10d X°H

SOdV— (8¢) Ioysep

SOdT- (87*8I) 3109 XoH




7 L

Ball PIN(#8%50)-1PCS




	10000330 安装说明书 Model (1)
	10000330 安装说明书 Model (1)1
	10000330 安装说明书 Model (2)
	10000330 安装说明书 Model (3)
	10000330 安装说明书 Model (4)
	10000330 安装说明书 Model (6)
	10000330 安装说明书 Model (19)
	10000330 安装说明书 Model (51)
	10000330 安装说明书 Model (71)
	10000330 安装说明书 Model (81)



